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AHAT 9799 (Model question)
Far: 10 quIiEE : 75
forwz « wforq THY : 3 "UT
T g9Ae® Atard g | (All the questions are compulsory.)

1. it oTReT wreAtas faamags ®er 10 91 qemaaRa fFadieedrs aest, Qe T SAarHdel $e
TS ST JHO A SIAFT gra AT TRURT GALHET 40 STATA TG, 30 T AT T 45
STHISN SATH ST ST g FAT | I HETHT 15 A7 faamdieser dr ier 318 SUaa g7 qarsal
5 ST % 7T § Fad A | In a survey conducted on students studying in grade 10 at Shree
Sharada Secondary School to determine suitable place for educational trlps among Pokhara,
Lumbini and Ilam, it was found that 40 students considered Pokhara to bé&nitable, 30 students
considered Lumbini to be suitable, and 45 students considered Ilam:{v Jbe suitable. While 15
students of that grade said that all three places are suitable, 5 Sfudents did not express any

opinion.
(@) P, L T 1 & ¥ 9@, W?WWWWWWWHWW
q IS JIIH §78 9 (qardiel THeaTs TOATcH] AT T2 @ |If P, L and I denote the
set of students who prefer Pokhara, Lumbini and Ilam respectively, write the cardinality

e\

notation of students for whom all places are qutable [1K]
) AT SATAHT AT HATATAT T Tl‘rl?ﬁﬂ v Show the above information in a Venn diagram.
[1U]

(TT) ARET ATATHE [FareradT wa1 10480 a?Fﬁ ST et sreraeRa @S ¢ AT THEE | How

many students are studymg in grade, 10" in the Sarada Secondary School? Calculate it. [3A]
o) Afe FALTHT T F AHT ARE S A1 fqendier i Juqa e & Gl 9 Ry A/
WWW?WWVTWWWWWWWWW? If 5 students,

who did not express their(opinion in the survey had said Lumbini as a suitable place, then what

would have been the fatio of students who considered only Pokhara was the suitable place and
only Lumbini was the'suitable place? [1HA]

2. fafamer 2 ader &Rt ¥ 1,00,000 F TIAT SZHAT STFAT T ATRH B | Aghd Ffqad 10% =Atwa
HATGTHT XA [afqaeng el [Fepeae® (@it T A, qdariie THa A T F/igE
=T =ATST) f9Uel & | Bipin wants to deposit Rs 1,00,000 in a bank for 2 years. The bank offers
10% per annum compound interest with three alternates (annual compound interest, half-yearly
compound interest and quarterly compound interest)

%) ATger A fadeaded &7 faweq wam &l fafuaars adr = T g7 7 defer | Which
option among the three alternatives helps Bipin get more interest? Write it. [1K]

(@) IAA 2 AUHI ATHT AGATNNF ART ATTAATIAR F(q = T (g9 I T4 Fagd ? How
much amount does he receive after 2 years from compound interest compounded

semiannually? [2U]



) fafeer | ST dvrd SeETitie Aehid ST ATER U TS STEAT ¥ iR I THTEE
=hid TS UT3H T Alebl AR ATRT STFAT TG 9 AAAT Hid THH TS 7 At the end
of 1 year, if Bipin withdraws the total amount received according to the semi-annual
compound interest and deposits it for the rest of the period to get quarterly compound interest,
how much amount will he get at the end? [2A]

. IS AR ATHT % 1,00,00,000 3T & 30,00,000 FT FR T & 70,00,000 F ST fFASA |
2 FUFE FRET HeA ANEEF 5 % T a8 AHA g1 & TG 9 T qed Aiv=ra greeraet
IH1T qfg §¢ TTH B | Sajan has Rs 1,00,00,000. Sajan purchased a car for Rs. 30,00,000 and
land for Rs. 70,00,000. For 2 years, the price of the car has been decreasing at a compound rate

of 5% per annum, while the price of land has been increasing at a certain compound rate.
ﬂ‘qﬁ'& g4 [T ¥9 eTar¥ | Write the formula to find compound depreciation.  [1K]
2 FUUfeyg I FRFT A Hid [T, T aSTerd | What will be theprlce of car after 2
years‘? Find it. [1U]
) 2 WW?WWW% 1,05,72,700 st WWWZF%{ giqeTael T

i w3, e | After 2 years, if the total prlce of land and car is Rs
1,05,72,700 then what is the rate of compound growth in

\He price of land? Calculate it.
) [2HA]
. JETTS faaeT STepr T Sfie TR Arad qwmﬁn@m?&mﬁﬂﬁﬁmammﬁﬁ
Tv | # @i T AF 131.05 7 ot @@ 7.7 1) . 
US dollars in order to go abroad. According to the currency exchange rate on that day, the
buymg rate of 1 US dollar was Rs.131.05-dnd the selling rate was Rs. 131.65.
®F) JATOT ATeAT FAAT 1,57,980 F ?ﬁiﬁ’ﬁ TAY FIeal Hid AR A$Ed ?How many dollars
will he get in exchange of Rs } 57 930 Nepali rupees ? [2A]
) G0 SRTIET PR {397 S, TG qUafe, AET fad Sl AreehT gerare iq qurerr sfitran

9T TesA 7 How many\\N pali rupees will he get back from the exchanged dollars on the

. | Pravin went to the bank to exchange

same day incase 1f he cannot go abroad due to family issue? [1A]
(A1) TATT TP c+>|<1eu<<:+|¢ SHATS HIq FTAT ATRT a7 ARH & g8, FRUMET qitd THerd |
How much! proﬁt or loss will he get from this transaction? Write with reason. [THA]

. A ATIR AUH RITASH =18 12 cm ¥ AR {5 919 10 cm & | The height of the square
based pyramid is 12 cm and the length of base is 10 cm.

(%) a¥ ATIR AUH FRIAeHT Hidefer FAqsTer Iage® ga1 ¢ How many triangular faces
are there in square base pyramid? [1K]

(@) 9 RIS H AT HIq gee, Ta7 aMS1e™ | Find the volume of the pyramid.  [1U]

) PrqeTER TaeeEAr fqadt FfW 1.50 TATET S I@ ISl IR H{G @9 dFg, OO0
WS =ed | Find the cost of coloring in the triangular parts of the pyramid when the cost of
per square cm is 50 paisa. [2A]
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6. STERTAT T Al (R bl aTdal 39 I [GSUHl S | el 34915 10 cm
T ATIRHT A 6 cm S | A metallic solid consists of a cone and a

hemisphere. The height of the cone is 10 cm and the diameter of the base
1s 6 cm. [m = 3.14]

%) G IoTZ T ATIRBT ATATH [GUFRT AGTATHT Sgb IS HIL Il
AMEws, d&fe™ | How do you find the slanted height of the cone

when vertical height and radius of the base is given? Write it.
[1K]

(@) JHT B T&IHl ATFTH 9T TS84 | Find the volume of the solid. [2U]

(M) JHT Tl I T&ATs TR 3 cm AIATE TUH TAATHR qwultr&ﬂmnﬁiﬁﬂﬁw
IR IS Hd &g, AT Tard | If the solid object was mé 4 and turned into a
cylindrical object of radius 3 cm, what is the height of the cylindéx? Calculate it. [1HA]

T AR 9T RQHET A1f T FATSUHRT ATAARR TATSEHIET fﬂ’?ﬁ,:,,‘t'i*-@{ls rerg T AT UM
3 m, 1.5m7 1.6 m & | The inner length, breadth and hei"ght of a rectangular tank made for
drinking water by two families are 3 m, 1.5m and 1.6mf

(%) IHT TATGHIH! (AT TR Faaram 9fd 3 EF*T&RT . 100 =T XA TF ST THAT BT @
g, IMUTAT T Fjﬁ' g | What is the total cost of\églbrmg the inner four walls of the tank at the
i [3A]

qd gfeaRe sRTe T fag | gfdfeaer 50 Tre

PG If 2 families pay equal amounts for consuming water
Wiﬂl one family have to pay at the rate of Rs 50 per liter?[2HA]
\&gTeUH B | Anju deposits money to her daughter's piggy bank

(Khutruke) as double, ()f previous day. The table shows the amount of money she has
deposited in ﬁrgt fwe days

G Uk RarRd Eﬁi%f TEH
from a full tank, how muc

8. AT GITHT GAHHT AfeTed
T TFH TAH! ATAD]

First day Second day Third day Forth day Fifth day
%5 % 10 ¥ 20 % 40 % 80

~ ~

(&) ATl BRI GAHHT STHAT Tl THAATE Il AqHH AT a7 TUR %A &l ? Is the
sequence made by the amount Anju deposited in her daughter's piggy bank (Khutruke)

arithmetic or geometric? [1K]

) TET FHAT THHA ST T2 A &1 99 10 o fqaaeqe gIar #iq 9 T#1 gvg 7 If the
money is deposited in the same fashion, how much money will be deposited by thel0™
day? [2U]
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() WITTH TAHAATIR THH THET T4 &1 99 GIHAT & 20,000 Ta737 10 &f faqufy a7 2 f&a=
AU 31, HRO Fied @&1er4 | Based on the above sequence, Is 2 days enough after10 days
of deposit to collect a total of Rs. 20000? Write it with reason. [2HA]
9. TIAT ATAATHR Gkl g ATSTghl e o T AFSl &% 72 a1 427 & | The length of a

rectangular field is twice the width and its area is 72 square meter.

(%) T FHIHIUHT TT &I d&ierd | Write the standard form of the quadratic equation.
[1K]

(@) I YAl qFTg T Aerg odT aser | Find the length and breadth of that rectangular
field. [3A]

(TT) A ATIATRR GTHT (6% 3) AT HITEHT HITATCT ThTee TAR T iU, TUHT T | How

many pieces of land can be made with dimension (6%3) square "

etre in that rectangular
field? Calculate it.

[1A]
10. (%) & T (Solve.):
25 - 6x5+5=0 [3A]
(@) I T (Simplify.):
TERE T T 2]

11. e ferarmr Frgst LMZ, S sz XYZM 7 NLZM TS% e MZ 7 S8 Gumr=i
et MZ ¥ XL T fa=rm @ g In i

N - o NV I
adjoining figure, triangle LMZ, g fallelograms
XYZM and NLZM are standir g on the same base
MZ and between the safheyparallel lines MZ and
XL. 8 "
M Z

(%) FHFAT ‘C{C_ﬁi\ﬂ XYZM T FHERR  =Fq4s
NLZM &%l &% fear=iehl g &ierd | Write the relationship between the parallelogram
XYZM and the parallelogram NLZM. [1K]

@) st MLZ &0 &9%d GHAR FqHqst NLZM &1 &bl ATel g 9l JHIa T

| Prove that the area of AMLZ is half of the area of parallelogram NLZM. [2U]
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12.

13.

) Fier A AB//CE ¥ AC//DE 3 | af AB &
weata D @ w94 ADBC &1 &9%d ACDE &1
ARG AER geg WAl JAIT T | In the
adjoining figure, AB//CE and AC//DE. If D is the
midpoint of the AB, then prove that area of ADBC
is equal to the area of ACDE. [2HA]

A > B

Feziarg O AUHT FAAT Tge =19 LP AT AT swara o LLOP , aifueT #ves /LMP ¥
ZILNP &1 O is the center of a circle. Central angle ZLOP, inscribed angles ZLMP and
ZLNP are standing on the same arc LP.
%) qRfaer #EE LLMP ¥ ZLNP fa=rel g¥=a d&ierd | Write the relatlonshlp between the
inscribed angles ZLMP and ZLNP. [1K]

@) B BIEN AT (Ix+2)’ T TR BTN A (4 +5)° 9T x as“rm?f 9T @SHEE | The
measure of central angle is (9x+2)" and the measure of mscrlbed angle is (4x+5)°. Find the
value of x. ' [1U]

) affaet HoeE L LMP ¥ ALNPWWWWWWWI (FFIAT 3 cm

HIATH AUH TSl qde® ATAYTF B 1), Experlmentally verify the relationship between

the inscribed angles Z/LMP and ALNP (At Teast two circles with radii 3cm are necessary.)
[2A]

(&) 1 PQ =7 cm, QR—Scm?LPQR 120" g7 Mst PQR &1 T=AT TRT I [A¥TehT

AR SRR AR gl T%TWVSQREFT =T Terd | Construct a APQR  having sides

4 = 120". Construct another ASQR whose area is equal to
the area of the given trlangle " [3A] A E
@) feguat = BC,£'€D ¥ AE//BD & W+ 95 ABC
?%WBDEWWWW%HWJMM
given ﬁgure, BC CD and AE//BD, what is the

relationship between the AABC and A BDE? Write

with reason. [1HA] B > C
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14. For7aT T@UATAR AB = 10.45m S=TEHT Teah! araxd CD = 1.45 m I9E AUH FaldTs &
AT BT 45° a1 B | As shown in the figure, 8
the angle of depression of 45° when a monkey at a
height AB = 10.45m looks at a boy of height
CD =1.45m.
&) belel Alaehl FE[TTAT gal I8l BT Hidq
ur3 7 What is the angle of elevation from the

boy to the monkey's point of view? [1K]
(@) ATEIHT 3efag FaThl IATSHRT HIq [HaZ AT

g, 91 S | How much high is the
monkey's point of view than the height of the
boy? [1U]

M) FGIE HFFHET 3 9T aMsa4 | Find the
distance between the tree and the boy. [1A]

) SEA HelAls 38l AAATHO 300 TATIA A1aT
Higelehl TITFATS F(q HaX T a1 ATGT A9 ? When onkey looks at the boy, how
many meters down or up does the monkey mov%%ts current position to make the

angle of depression 30°? [THA]
15. Star wreatas faemaasr 40 S fammdier g T TRhT GTATSheATs qAdhl qTieAshTAT
fagu®l B | The marks obtained by 40 stude anata Secondary School in Mathematics are
given in the table below. ;
gredTg® (Marks) Q -10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
fer=met g (No of SS nts) | 4 6 8 5 7 10
AN

(%) N
\)\ v
HfeareT g m\ﬂ' (Mdg) =L+

X1 H [ o & TS9G| What does i

N

represent g?m the formula for finding the median (M) =L + 2 7

9) fagusl qaTgHare Al 9 @msHe™ | Find the median from the given data.  [2U]

() feguerr qeaTgsare drad yrdigs® TUET T | Find the average score from the given
data. [2A]

) fqendiesst d@d grdrg® 30 FAeT 50-60 aNwaRedT fHardl agedr wid gaae ¢ TuEr T8
oeTard | What should be the number of students in the class with 50-60 in order to
make 30 as the average score of students? Calculate and write it. [1HA]

16. THTET fRfawsr 52 o=l dTHr TS TedHT AT ATHeE THAMS Abl T A ATEIEA
f¥Rf®Ts®r B | Two cards are drawn randomly one after another without replacement from a
well shuffled deck of 52 cards.

f .
X i, [1K]
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(@) afe A T B T8 AMET AT GeAE® g1 99 P(ANB) TaT @6 97 & &8, deed | If
two events A and B are independent events, what is the formula for finding P(ANB).
Write it. [1K]

(@) 4 ATAATER ATH! T FEATAAT F{T g7, TT MSe™ | Find  the probability of
getting both are faced card. [1U]

(W) ¥R AUH! qTE IF T A9 G GEATAT TRUTHEEHT GEITAATATE JeraTH1T I@ISTE |
Show the probability of all the possible outcomes of getting or not-getting face card in a

tree diagram. [2A]

(%) IfT TZATST AT IS FHT T ;AT g9 AT ATER TUHT T GEATAT T AT TFhT
I AT HRaT (IO F¢r & ¢ If two cards are drawn randomly one after another

with replacement, how many times more is the probability that re faced cards than
the probability that both cards are ace? @Q [1HA]

O
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